


Time : 3 Hours \ Marks : 160

Instructions :

(i) Each question carries one mark.
©8 PHH w8 Srdy, sod.

(i) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3.or.4
in the circle pertaining to the question number concerned in the OMR Answer<Sheet,
separately supplied to you.

85 S D8 PHH 25@ES TBS* OGS JVIrETIIND ISYFI TR, Do
@08 1, 2, 3 85 4 3 205 OMR J38rerd HES' HHK 0205008 SopgHo
DEES ar/ers wrd Fowodl DY) GIRTN0D JoSBLo.

BOTANY
1.  Protein molecules that form huge pores in the membranes of the plastids, mitochondria
and some bacteria are ¢ as _
(1) Stomata Porins (3) Coberin .+ (4) Subarins

FaBe0, PE T oGS H00kn ER) erfdcire Sngiorgs ([FESH wmHe DE SoFross
DEyERzow. DB Do0krsd
(1) Jgdogren (2) 2B (3) B oo . (4) Do=88

62. A prerequisite in the tissue culture experiments s to sterilize the culture medium in an

autoclave to prevent the microbial contamination
The desired autoclaving conditions setare:
(1) 121 °C, 30 pounds of pressure for 15 min
121 °C, 15 pounds.of pressure for 30 min
121 °C, 15 pounds of pressure for 15 min
) 130 °C, 30.pounds of pressure for 30 min

Somre 3¢5 PEIras” FhE SrIs) BEESS SryEs sirdo Schdo ©8 wsvso.

&9&.’5‘556“'& T OPRO 20Rde Td

(1) 121%&; 30 Jod $H%550 15 e 568
(2) W21 °CT5 Zrog HES50 30 Do $6%
(ORI °C, 15 TFod HES350 15 e 8%
4). 130°C, 30 od 58550 30 dore I85%
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3. The phenomenon of replacement of sexual reproduction with asexual reproduction is called

(1) Vivipary . (2)—Apomixis
(3) Karyogamy ‘ Syngamy
Bohs g8 wdwn™ eBohs @éosé)ﬂaaﬁ SYIRASTY) IS0 E? Va
(1) 2036 (2) =B0@rK 23850/eFnES '
(3) Bo¥ BodrKSm (4) Sociog SodrKSw R
4. Match the following lists

List- I List-1I
A) Legume [) Endosperm
"B) Drupe . II) Juicy succu]emplav" of endocarp
C) Caryopsis el [II) Cotyledons
D) Hesperidium IV) Succulent pen'mq : -

V) Mesocarp \

Bod DYEo 2858)0s : \ 8

HEE - 1 598 TN,
A) 852588 Hoo I @o&ﬁ%dm
B) 8of Ke deo : I) @ wod3OESSos*Y Sdadnd, §30¢

: ) Bedargd STen
C) &35 dHaso IIl) Dedeen
D) dy0dchs L V) 855588 Ho5i8men

' V) "Sogghes 53S0

The correct match is :

a&é@:&aé:

A B C D
1 ) A Vv A% 1I.
(2) I i V 1\
3), N I 1l i}
&v/ m N i II

5. Catabolism of long chain fatty acids occur in

(1) . Glyoxysemes Peroxysomes
(3) “Carbexysomes Rlbosomes
TEIFn > wire DI I & =orb?
(1) Q&BS‘JQ‘SQ&D (2) So§H¥FrSoe
(3) sop§Foen (4) BIFSoexn
Rough Work
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E. In racemose type of inflorescence, the subtype that exhibits all the flowers in the
inflorescence are brought to the same height due to varied lengths of the pedicels and this
pattern is called as
(1) Capitulumor head (2) Simple umbel

Corymb (4) Compound umbel
& SES HFgdXd Py ITgHos’ PYJoeteo 3K I PEHS” ﬁodéa §
Do) o INHS* B0 Gotran. HID DSotrd? ta

, (1) 3838 DA dargdo B sgabgos (2) B8¢ fﬁ:ﬁr);’m MV
; (3) HS02d (4) D08y KowsSwn “l .
7.  Whijch one of the following RNA polymerase subunits reco gmag. and des to promoter?
/(’K o - subunit (2) B- sapumf
(3) v-subunit (4) o- sgbumgj
& 1808 RNA 2088 ¢dpdrwmres® d &d @’)érﬁ&n 5:63 8o TASE* wofdo
BN)BI08 , o D
(1) a-&e3@sireo ' gz) rB N 5 @;ﬁrsao
(3) y-ed3dSrwo W) - L 65500
:’H ‘L(?M of,
@ In EMP pathway, ATP is directly fonn‘éﬂm the conversionof: AT Y W

)  Fructose 1, 6 - bisphosphate to g!.ycaaldehyde 3-phosphate  (,\V

AD  Phosphoenolpyruvate tﬁpyﬁma acid
f I) 1,3 - bisphosphoglyéeric aeid to 3 - phosphoglyceric acid

_JV) 3 -phosphoglyceric acid.to 2 - phosphoglycerate

EMP 5¢0e* & 8‘5&?’*5& AyBSHyds ATP HoFhae 2818808
D  @§S 1, mﬁ» aém Bood PBTYTE -3 - FRyn

m : SE 00D RErIE wioo

III) 13 9@?@3&@65 w0 Sood 3 - &:3‘5&@65 800

I\%) ﬁ.% FF)H08E sB0 Dol 2- &@3@&6&5

“\The correct combination is:
tl,éﬁ 0% ud _
1) VI oy . (3) IO (4) LII
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A

. (3) (A)»6038 = (R) 833 .

———————

Assertion (A) : One should encourage local clubs or school mﬁﬂw
habitats such as butterfly gardens. bee boards and bee bomes. e
Reason(R):  These measures are necessary 10 protect pollmators. :
) Both (A)and (R) are true, (R) is the correct explanation of (A) \
(2) Both (A)and (R) are true, but (R) is not the correct explanation of (A) @

" (3) (A)istrue but (R) is false i
(4) (A)is false but (R) is true
dpso (A): I8 Sogos® rdroos® SaSidnd Shol 3800

&5Brhod dostw, w80 TEFY | ¢
s*$eo (R) : & =fides Do 3030, SSchsdod SSodtr
(1) (A)So6cs0 (R)Bods S00s3, (R) =38 (A)S 553y
(2) (A)S0bcs= (R) Bod> 3066033, 572 (R) =38 (A)

10.

(4) (A) &5y 5 (R) 90058
Match the following lists:

- List-1 List-11 _ ( |
A) SyntheticAuxins  I) Synthesﬁikﬂ,,}_' ge amounts in senescing tissues and

: ripening fruits

B) ABA ) Delays leaf senescence '

C) Gibberellins - -1 In }Eggﬁhe length of the sugarcane stem

D) Ethylene A Used tokill dicotyledonous weeds, does not affect mature

“Smonocotyledonous plants
Stimulates the closure of stomata

EoB DL _
288 -1 388 -1 : \
A) dozad (s ) S¢gsgas S*5cdog oo’ Sobodxn 850 Zod

Soroct 25,5 Soirmos’ Sofie akibded

B) - I S8 =55 sodjadsged
C)me e DR M) S6% sode 4 DRSS S\ odod
D)/ 280 IV) 8g6¢ D= 53 g ok TESc DS T e,

5058 D88¥ D= oo 8 JnI08 HerSo BDdd
V) 38 dopren SoriosIE) (20908

% The correct match is :
28 ¥V 2
A UB C D
@ v m I I
(2) I V I I
Gy v m v I
v v om I
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11. Use of a complementary RNA molecule to prevent another mRNA molecule from
participating in translation there by preventing the expression of a gene is termed as:

(1) Biopiracy }Z)/ RNA interference
(3) DNA finger printing : (4) = Gene therapy ‘l
& Dodrds RNA el aH@BThod 3678 MRNA sl 5T E0S" T HIHTOT
[ o adg S5E¥dmS A0 FTo P B0t d
| (1) adrpds (2) RNA 538888050 :
'(3) DNA 30 so@e (4) mg D8S)

12. Inaphenomenon where heterozygotes have features of both.the ho_mozygdtes, that is, an
allele is neither dominant nor recessive to the other. Suctfa phenomenon is termed as:

\Q{ Codominance : (2) PleiotrOpy«

(3) Test cross (4) Deminanee _

4% cSnifres ads $8o Bk, Dok vFETOS B grdos’ SrdIon. ©o8
SSSIEL S LETIFES airdde) 5 ga_oégé §57¢Q) 5° SrHd). & SyigRoir)

-

D500t . | ‘
, (1) HEroirdgddsso QY wivd prdd
(3) 26y Ho8GeH0 : ‘ (4) wirddsdgdn ' .

. @3, Commercial product “Agar whieh is used in “ice creams” and to grow microbes in the
laboratory is extracted from

(1) Laminaria&ngi‘Pb"ijgg;iphonia /0)/ Parphyra and Sargassum
(3). Geliditgnaﬁdf}rfacilaria (4) Marchantia and Polytrichum i
SHE S EuTeE A0 a BATITOS' Srg P DoSsERo TeBaghtom SORPHSE |
250)5G B Hood & EHHPS0b ‘
(D erDHBOOS Sobosn PRIV (2) oy $o0050 JTHR l
A B mosens: w00 RS0 (4) Sroponcsr B0 FOFED |
I

i
A

A
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4. Assertion (A): Vesselsare the main water transporting elemenis and devoid of protoplasm
Reason(R):  Sieve tube elements are long tube-like structures, arranged longitudinally

and are associated with the companion cells - .
(1) Both(A)and (R) are true, (R) is the correct explanation of (A) Qs

(2) Both(A)and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false :

(4 (A)is false but (R) is true Ty : : 4
IPNdo (A): T Teren B HH8e B Brs Srose Hocks Jas go
D508, ’ o |
- s6wmo (R): ool ove SEIT fi’gc;er 03 AT T ol : PO IODS” 23500 2

STgeros® §9h Soiron
(1) (A)3o80%0 (R)Bodkr 8GHSS, (R) €38 (A) Spo080s oS -
(2) (A) 50805 (R) Dok 285053, 53 (R) =354A) & 5 2562 5o
(3) (A)%oghis8 2 (R) 85y \'
(4) (A) 85y 52 (R) 5853058 -

d clements without any lignified walls,

%5. Assertion (A): Heartwood does not compei
ondary Xylem is lighter in colour and is

Reason(R):  The peripheral region @

_ involved in the . om root to leaf.
(1) Both(A)and (R) are truy (s th t explanation of (A) |
k2] Both (A)and (R) are true-% not the correct explanation of (A)

(3) (A)istrue, but (R) is fa ‘ :

(4) (A)is false, but (R

dgdo (A): w0 S Sorore Hodn OMS wokom EOAS Fdus: 98
3
580 (R) : S T°HY Iendd Ko BE S0 &otn0d. 28 I S0d HE D8
' ‘ A, DI (BdCees* 008 '
(1) (%m (R)Bod» 565053, (R) @386 (A) & 0% 956
2) (A

(§ 20080 (R) Bodor 06053, 53 (R) &6 (A) 8 565085 dS6e &
(B\(A) 5658 =2 (R) 85y -




F A

16. Assertion(A): Exonsare coding sequences ofa DNA.

Reason (R):  Intervening sequences appear in mature RNA.

(1), Both(A)and (R) are true, (R) is the correct explanation of (A)
Both (A) and (R) are true, but (R) is not correct explanation of (A)
(3) (A)is true but (R) is false ,
(4) (A)is false but (R) is true ik A
! Qg0 (A): DNA &* Sg850g odEsros IsSe @otrdd o :
5200 (R): 58385 RNA &° ©080°05H edEdran EQbothd
(1) (A)SoBosn (R)Bodr 285053, (R) 936 (A) & 8808 dSde :
(2) (A) 50850 (R)Bods H053083, 570 (R) 638 (A) & D060 I56x/5%> ¢
(3) (A)»05088 5 (R) Sy _ & &)
(4) (A) 853 53 (R) 568058
Some plants like Viscum and Striga send roots into the xy]emof the hostplant to get water
and minerals. Such roots are called as \
(1) Velamen roots M Nodular roots (3) Stllt tebts : -'f-‘-?(‘!i) Haustorial roots
i, BB Ponrerod F'R) Ik oo A, maa‘{@o ‘ﬁ;@&wag & 3D ©8zon
IS V8 Dobyow. werod Ig JBo0rE? \

X

(1) 3028 3% (2) 208D 3% G &t 6 (4) SPocHs 3%
Match the following lists. (  §

List- I : Qe g List-T °
A) Ribozyme ' D) Lacoperon

B) . Friedrich Meischer ‘ ~—~1II) DNA as genetic material
C)  Alfred Hershey and Marttis Chsse/ ) Catalytic RNA molecule
D) Francois-Jacob DNA is acidic substance
The correct match is:

|
:
‘ 8obd Hf¥oi adsiged ;| V) - , |

3

B - 1 % 5838 - I

A) aas*asa & ) oF§ ados

B) L@@E &q‘muﬁ? II) DNA &8 asog Sorgo |
0) eseﬁpé’ 9318 S0osn Srov B& Il)  &@)88 RNA @ |
D) @0&oul =85 IV) DNA g 65 $omR) 500 #0008

The correct match is:

'aa €05 = : - o il
{ A B C D :
11 \Y I |
\ \ P(z) . i IV I
3) N I 11| I |
r (4 I I I \Y |
] AM 2017 | 9-A l
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Match the following lists: O 5
List- 1 List-I ™ ”
A) CrylAc D) Com borer
B) /\gmbactcrimn Pk ) Transgenic Brassica
C) Malesterility ~ }&-‘?;\ [l) Tiplasmid
D) CrylAb ~ V) Cotton bollworms '

V) Transposon p-

Bob DS 2E5G08 :
588 - 1 58 - 11
A) CrylAc ) 6 5
B) wFFer§ocsio : M) =kog 20588 o8
C) HA Sodgsy 3520 ) Tidds
D) CrylAb . V) @8 535,

. V) @,5;)36 S
The correct match 1s: ¥

b ‘éf_c‘:_;é 2és

A B i D
1N N Il 1 18
(2) I I Il V
(3) I \Y Vo Y

w v NI

20. Many carpels ar€ free and each carpel of apocarpous gynoecium develops into a fruitlet in

(1) Qmzasanva (2) Acacia arabica

)y Anftond squamosa (4) Vitis vinifera
fast w38 sodew REHTIT, © wHocsnugomss wod @8 sofdo n§ DO oo
BB Dododood

Q) =0 98BS ‘ (2) winosr eods
(3) sST F°T (4) 288 AIVIT
Rough Work
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21. Assertion(A): In CAM plants, carbondioxide is trapped by highly efficient PEP
' carboxylase.

Reason (R):  CAM plants do not fix carbondioxide during night. -

Both (A) and (R) are true, (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R)is false
(4) (A) s false but (R) is true <

o (A) CAM 308, 0" wHE BgSosZs PEP S‘U'Qé}\)a§ C@sﬁs&bﬁo:ﬁaeﬁ)o&

s6m0 (R):  CAM Swgen 0@ ipwes® CO, 63 am.ﬁ;

(1) (A) 508032 (R)Bods $06053, (R) 36 (A)& raa;g_aa:: 2580

(2) (A) 08050 (R)Bodkr $8053, 5°9 (R) 038 (g\)s; sh;@:s D560 56
(3) (A)368058 5 (R) 85y :
(4) (A) 85y 2 (R) 985058

22. Initiation of lateral roots and vascular cambium during the secondary growth takes place in

0 Cortex w % M N2 Endodermis
(3) Epidermis ' ~ (4) Pericycle
BB ;53@6‘ SN 36‘ @-o'w ﬁéoéa S0k Jgrazg SeaS® ngcsé.ao & Sere Sod
28808, |
(1) ;vae;in . | : (2) wodHKsn
(3) w%ﬁﬁ'&;‘ﬁm (4) Do ES0
Rough Wo:'k |

R\
‘.
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(A]

23. Identify the names of the structures in the right order

A B C D
(l:OOH CH,-OH COOH CH;—(CH;)ys— COOH
H—IC—NHZ CH-OH Hﬁ(‘Z—NHz { 3
CH?_— OH CHz—OH (I:H3 {-‘_ i
The correct match is '
A B C D ,
(1) Serine Glycerol Alanine Fattyacid ®’0
(2)” Glycerol Serine Fatty acid Alanine p )
“(3) Alanine Fatty acid Serine Glycerol ' ’»“
(4) Fattyacid Alanine Glycerol Serine .
& (Bob Joyre WER @8 ES0os* HBoKod : Ny
A B C ‘ D
<|’JOOH CIIHg —OH (|ZOOH ‘©H; - (CH;);4— COOH
H-C-NH; (|3H—OH H—(lj—m{g
(|3H2 —~OH CH,—OH CHj;
28 J0GS =8 :
A . B | D
(1) %863 A0S &S 8 sire
(2) ascS 068 7S sdren oS
(3) ©oas EFEEr s DS ASS
(4) > oszen godf |V ascS 585
24. The size of the paryoviruses is :
20 FEICY D¥STr@o ¢
},Pf;;OO_nm- (2) 20nm (3) 400 nm (4) 0.002 nm

25. The number of synergids and antipodals present in a typical angiosperm embryosac at maturity

respectively are
¥ twio and three

(2) oneandthree (3) threeandtwo . (4) oneandtwo

Focmom wiE Dok DobS HERes FoS HossHeS" BOGHE SHVERNS® Q)
W05 Eeoren H0Boin PAFFE Begren ©0&rToX

(1) Dok Sobasn &Sadd
(3) Sords HobBosw Bodd

(2) =88 Sodbodn Sord
(4) =288 Sobosn Bodd

Rough Work
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(A]

26. In the Measles virus, the envelope contains protein projections known as spikes. These
proteins are -
(1) Acylated (2) "Methylated
(3) Glycosylated ./(Ad/ Carboxylated
D2y BEBS* SN DS PFESS 0FY ErOT0S Ty ed Godrow. & (BN
} D0&3?
' (1) Jpd8& (2) 2pdss
* (3) BsRTBS6 (4) son8BEE

27. Assertion (A) - Ina bioreactor; temperature, pH, substrate, salts, vitaming and oxygen are
maintained ~

H Reason(R):  Theyare added to maintain proper growth of the organismand to achieve
desired product optimally '

Both (A) and (R) are true, (R) is the correct explanationof (A)

(2) Both (A)and (R) are true, (R) is not the correct explanationiof (A)

(3) (A)is true but (R) is false :

(4) (A)is false but (R) is true

sfasSen AcHoGnS® woSHgaten .
S0 (R):  ©38) 42 Bo¥), H0GE HG FE% 50050 ToFdah sEToH ©hs
_ neros’ Folzds wolowakaron
(1) (A) 58055 (R)Bodr $E08H, (R) 638 (A) S 30805 dSde
(2) (A)So00s» (R)Bogs $0HT, 5°0 (R) ©38 (A) & HBS0S DS8e0 5760
(3)- (A)%0g058 52, (R)Sy
4) (A) Sy s(R) 0SB

28. InZ-scheme of electron transport, water splitting complex supplies electrons to

Photo system - | (2) Plastoquinone
(3) Pheophytin (4) Photo system-1I
Z-$5%06° dogS sTerd’, D8 2FES Sofgo B8 Jogo 18T Do
(1), 508 5553 -1 (2) T8I’
B) S8 : (4) 508 8553 - 11
\ pugh Work
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29. Match the following lists

List-1
A) Lyases [)
B) Ligases II)

C) Hydrolases  III)

D) Transferases [V)

808 Doy 28Vl :

| 588 -1
A) odhdw )

B) ShAdes 1)
C) TEdsen 1)

D) gr{atden V)
The correct match is:
28 K:E:S 26

List-1I

Enzymes catalysing hydrolysis of ester, ether, peptide,
glycosidic, C — C, C-halide or P - N bonds

Enzymes catalysing a transfer of a group, G between a pair of
substrate S and §'

They catalyse removal of groups from substrates by mechanismis
other than hydrolysis leaving double bonds

They catalyse the linking together of 2 compounds

?.’)éﬁé -1I

296, 686, % 12 af_:gi}: §, C-C, Cix3a8 Pe Nworreds
2o IR TP JoBIen

G 350z0ird) S, §' 3 Botk odYiage Sy S )
QoZa0en

Q8 dHgos” sHom adl dro@so TR0 ¥y ITTO
3009 B30T EroS FVHo, Brpogren JBEH QOESJUO

2 HoBrasred D SE e 3*’&’5:3 QOB

A B = D

(1)e 1 I I WY

2 N I 11 il

y I IV I n

(4) 1 II IV T
Rough Work
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30. Match the following lists.

List-1 List-1II
A) Ascocarp I) Aspore producedby an ascus
B) Haplontic II) An asexual spore produced by cenain‘ algae and some
fungi, capable of moving about by means of flagella“f,
C) Zoospore ) A life cycle in which the haploid phase predominates and
the diploid stage is limited to the zygote
D) Ascospore IV) A non-motile, thin-walled spore
" V) Itisthe fruiting body of ascomycetous fungi
808 HBEK 2SHE0s : ¢
5438 - T 58 -1 ‘
A) o956 ) w88 o8 G wond dEasn
B) 08pa¢ ) &3 35ouh slats wWoge &8 Jb, (%)
D S oSng, ©8ons bEd=En
O) f%os bgbusn ) &AEI8 S0’ DERBE 6F BEsP, EgabRas &
o BoosE DErAE SeE@is HOED wolnod
D) wa98%6 V) B S0l §rd Se08d Fder 80A &&) dgdadn
W) 26 80 WoEre doToNIw
The correct matp‘h 18%
28 $0S w6
&L C D
M) v v I
t @ sV Il 11 |
,{3)/ i GRS AR
‘@ vV I . E N
Rough Work
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31. Electron microscopic study of cilium and flagelium revealed that they are coversd with
plasma membrane and the core structure is called “axoneme”, possesses & mumber of
microtubules running parallel to the long axis. How many number of microtsbuale arrays ¢ ?
are arranged peripherally and centrally

Szgo BE 2080 JOES mh&ddﬁ)é‘ SrRSP0, v Ty 65 Eaud
D8 SoEerma) ‘BRI’ votrd. BIS* ¥3E Srf) TS I =508 S5
&otron. ST AQ) HYHA HoBokw 3oES JrE) TS Sodron

/()/' 9+2 (2) 8+4 @0 g

(3) 9+3 (4) 8+2 s

32. Assertion (A): Inmostbiological systems, the initial sg\ (lzg phase)

Reason(R):  With limited nutrient supply, the gro

~ phase. | : .

/{*()‘ Both (A) and (R) are-true, (R) is the ¢ lanat:ion of (A) il ' [

(2) Both(A)and (R) are true, but (R %. orrect explanation of (A) . B

(3) (A)is true but (R) is false

(4) (A)is false but (R) is gy »
apdo (A): o6 23 ERG s 536" BhibEe IET skt (Sos &9) |

f O N :
sowo (R):  FQFo SYoo &) wombde ShFe, Ko Forr Shrscd
= q ®

(1) (A) a:aq;w(&gaow 566053, (R) 638 (A) % $6G0% 256

@) ( ogn (R) Bodr 5063053, 53 (R) 35 (A) & $OES D36 T

%)&Gﬁaé& 53 (R) 853
f) ) 859 52 (R) $0G56

AM 2017 gt
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3. L _ Glucose

=

Triose phosphate (3 - phosphoglyceric acid)

$
2 - phosphoglyceric acid
|

2 - phosphoenol pyruvate
-
Pyruvic acid :
The enzymes catalysing reactions 1, 2 and 3 respectively in‘the above steps are
(1) Phosphoglyceromutase, Enolase, Pyruvate kinase '
(2) _ Enolase, Phosphofructokinase, Pyruvate kinasg
| ,6‘)/ Phosphoglycerokinase, Enolase, Pyruvate kinase
| (4) G-3-P dehydrogenase, Enolase, Phosphoglyceromutase

(S

] @:@rﬁ? FRyeo (3 - oRAReE wio)

6§

t\J

ﬁl’

&
(——a,&(—
® e &

3O

(o)
&
&
g
« Y
Cy
e
s O
(18
&

PRErAS wdvo
u‘.\é D8 1, 2, 3 S8gos’ ¢@dseon 50T JoBHoo HOGHS EoS” Beodod
) ;'J"@‘bﬁcoé‘éow§5§ &S5BS, PErIS IIE
(2) &3'BE, FRPE 338, oJcSr?JéS 538
(3) >GE 335, &588, p&rdS 38
(4) G-3-P & 7 &'=238, &S84, ﬁ“zﬁbﬁoﬁ‘mgﬁé

¥

S2
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Which one of the following does not belong to Solanaceae

34.
(1) . Nicotiana tabacum (2) Withania somnifera
(3) Derris indica .(})/Lycopersicon esculentiom
& Eob TBS* FeodHE Do DB? X
(1) Jsfacsra S (2) deJosr FA)PO >
(3) 3P 2085° (4) BERYS'S ) BobS g
33, Find out the right combination of primers in a PCR to amplify the DNA pr:
& (o 785¢* PCR 5o DNA &ge38de 28nma8 ﬁéo’&jﬁ‘é@%
faBood - - '
: > I T 3
(1) 5'—-—-—-—>3' ' . 4 ‘ A N
: 3 <'|'|'|'|'|vm 5 Set I
3 L A M,
2 = 11111 - —=—Tmmr 3
¥ 5 e 3 ¢ 3 U ¢ Set I
3 AL . . 5

S N S }
)

3 Ao o 4 v Set ITI
5 Ll @ ' - ¢
le-'T.-" | < 3

(4 L | T Set IV
3 - — [ 5

Rough Work
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36.  Match the following lists

List-1I List - 11
A) Plasmolysis == ) Movement of water occurs exclusively through the
N intercellular spaces and the walls of the cells
B) Translocation ) Thebulk movement of substances through vascular
B3, tissues of plants-
C) Symplastic \\\ ) Water travels through the cells-their cytoplasm;
: intercellular movement is through plasmodesmeta
D) Apoplastic \0 Water moves out of the cell and the cell membrane
of a plant cell shrinks away from its cell wall
V) Symbiotic association of a fungus with a root system.
Fungus provides minerals and water to the reots
$od DYBol 285808 :
58 - 1 588 - I _
A) EeBdg So§'wo ) 28 Seodo dSwo Srodmisae, 5w gSore %0
Srgd akhsed :
B) Todde M) JInoge Hddn, Yo% WS DT TO DF© R0
C) 2SR dordo M) 58 Sossn §Eres'EnEsgo mgo Poranod.
e 53(53 éea@;ig gogre T 228008008
D) 2&IY T80 : IV) o S0 J EHES IF) FondHydo Eeadglo

£3%0 Do IBFE0b

V) 36 ;’)gé{g %0803 300|BB0 Sy drESD0. Biety
2DoISS0 VG o005 PAFTOS LoBROE

The correct match is : ;

20 oS = :
A B C D
T Ty ¢ Il Vv I
2 NV 11 v I
P (3) Il [ I 1\Y
o Il I |

37. The floral formula of Pisum sativum (pea plant)
D95 BBES (207 wE,) DY, I $D0ESBEN AB?

AN
”),la/ BI Ebrl @ Q)K(S) C(S) AS _G_(z) ) (2) Br Brl % gK(s) ( 1+2+(2) A(g)fi Gl;
l ‘ (3) Br Ebrl @ g‘P(3+3) A(3+3) Q{3) (4) Br Ebrl % K{S) C(S)AS g_(g)

™~ Rough Work

)
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38. Match the following lists

List-1 List-1I

A) Diptera o2 I) Homo sapiens

B) Poales o ) Mangifera indica

C) Sapindales III) Musca domestica

D) Primata — " IV) Triticum vulgare

§ob ST 2SDHE)08 : :

288 -1 S¢88 - 11

A) &no ) ordr Dhoi)

B) &c500 ) ScoEo ROES N )
C) boSEE TR O

D) (@&re IV) (3883 86N WD

The correct match is :

28 JBS 28 ¢

A B C D

(1) I I I\Y I

2) I I | v
5~ - \Y Il I

4 N I I I

39 This Indian scientist and his group contributed immensely to C4 photosynthesis research

},L) J.C. Bose . (2) V.S.RamaDas

(3) PK.K. Nair (4) C.GK. Ramanujan

TESRTAE BodS & a‘@ﬁ_q Hosss sohs Srdgies C4 Sdmady SodrK§oh
505655 wdgos SEImE

(1) 2% &% (2) .00 THTR
(3) 233 oy g (4) D.2d ocdrdozs
40. Porphyra an-d‘_Diictyota contain the following pigments respectively
Phycoerythtin and fucoxanthin (2) Xanthophyll and y-phycoerythrin
(3)¢+Chiorophyll d and chlorophyll b (4) Fucoxanthin and phycoerythrin

TG HOS0 BFErErS’ & $ob SYETgen ed SEVE0S® otrow
(1) DEWBES Sedaiw T8 odS (2) 2ofs Sodc%n 1-REAVBS
(3) §59S d Sodasn 56 b (4) FgE=oBS H0asn PEIBES

Rough Work
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ZOOLOGY
Name the targetted gene in first clinical gene therapy
Adenosine deaminase (2) Cytosine deaminase
(3) Thiamine deaminase (4) Guanine deaminase
S20¢5¢3 §<‘O§5 zdog D8S)S® TES 2logd :
(1) . JESHS BIDIE - (2) 2ERS BIIE
(3) BN BIWIE (4) RS BIIE
242 Whieh of the following cells of cockroach secrete saliva
/)ﬁ)p Glandular cells of mesenteron (2) Acinar cells
(3) Stomodaeum cells (4) Proctodacum cells
FTRoES” erorear) EIo Swren :
(1) SDogrgo@ (od Seren (2) dvE B
(3) odgSop Ewren (4) o505 Eexed
43 Enzyme present in lacrimal glands of eye that hag immunelogical role
(1) Ligase (2) Lysozyme Lipase (4) Lacriminase
o8BS D rBHS (Hod (FIS0S® csnokd FHIGGE Ao ReR S0
(1) si& (2) s¥aE> (3) saE (4) EDIE
24, Origin of new species due to the geographical sgparation,is called
(1) Phyletic speciation ,ﬂf@ Geographical speciation
(3) Sympatric speciation (4) Allopatric speciation
FTHEE DSES So Fgrd AGkob ~
(1) BEE $derSoSw @) FHOE HoerSoS0
(3) NoriEsE HoeTrSadw . Y ) sSTFBE Hderdodn
45. Match the following ‘ '
Set - [ (Endocrine glands) Set - I (Hormones secreted)
A) Pituitory gland \ [) Melatonin hormone
B) Pineal gland /M—II) Thyroxine hormone
C) Thyroid gland Cortico steroid hormone
D) Adrenal gland IV) Growth hormone
& 506 TV WERG DI
8% & e oé@z)éé Bogoen) HGE - 11 (55678 (@S0)
A) ﬁ:mm e s ' D Dos’dS 6%
B) %3058 %od : ) go§s 56 %
€) Foond Hob ) g8 {orows &6
WD), 2858, (fiod V) émhde $56°S

00 HB8GS nd.

< Identify the correct match.
A B

==EZ20
=4 =1

(1) I1 |
(2) I Il
A N I
; A% il




46. Mark the decreasing order of complexity in the given living systems

A) Cell B) Organ -
C) Tissue ' D) Biosphere )
& Eob BD 6 HOBGE SEEST BITIR EWENE’ e >
A) Sead» B) woid»
C) &mereo D) #S5A°¢S0
() A>B>D>C (2)D>B>C>A
2 A>C>B>D 4 B>C>A>D
47. Match the following _
Set - | Set - II
A) Flamecells — )  Arthropgds
B) Coiled tubules ) Platyhelminths
C) Malpighian tubules — T HI) Erusfcean”
D) Green glands IV) Annelids
& (B0 TAY BEDIWB0 '
586 -1 - : N\ Qsgs -1
A) ergor Berew ‘ I) @Lq;a‘a*
B) ofen 80K T80 , ) 2860
C) Srdmohs TOEen ) . Eghoks —_—
D) &osfodoen V) ed= 49.
Identify the cofrectmateh between SetIand Set II
56561 5o Bige 1l S0 D 2EBakes0
WpB ¢ D
(1% 11 \% I I
2) I I I\Y I
;(3)/ i} \Y 1 Il
(4) \Y 11| 1 I
Rough Work e
Rou
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&8 Match the following: ' :

Set-1 Set- 11 ‘.

A) Reproductively isolated from the I) A genetic unit
individuals of other species :

B) Sharing the same ecological niche I) Abreeding unit

C) Showing similarity in the karyotyp\ III) Anevolutionary unit

D) Having similar structural and IV) .Anecological unit
functional characteristics

& (808 A BSHEWISW

508 -1 ‘ : 538 - 11
A) 88 He ok @éagége‘ﬁ ) =l 8res0
JIES (SEBothd ' ' .
B) o3 £5560 A5 HowhElob ) Eass Heraso
C) 2385308 5°0@rBS EYoswotoy ) H8eo~ds ((D&orea s
D) 23968 doysdyE Srdasn - V)M B’ Hsresn

BoSrs)8 wfmrod §Qadvodd
Identify the correct match between set I and sepITl
HGE-1 S00050 HPE-IT OGS DS 2EBELAF =AY HBowdn.

A B ¢ D

(1) 1\Y% )| 1l I
)2)’ 11 v [ I
B (3) 1l | m % W
(4) I 11 I1k I\

—

49 Which of the following statements are true for ecological pyramid except
(1) Energy availableat alewer trophic level is always more than that at a higher level
(2) The pyramidief numbers in a parasitic food chain is inverted
(3) Pyramid ofbiomass in sea is upright normally
In a treeiécosystem, squirrels are primary consumers and ticks are secondary consumers
& Bof FOY' ErSde HEMNEOH Joodod I8 JBFIL 57
(1) Eok #aéa&'mae‘fﬁ oo #Ep FAEFoNS® oo ¥§ Lob Q&bé
(2) ac’:‘éﬂléé)ea s;w‘d Feode® dopg ad:)a& go8otenm ddwodis
(B)) FHSENS' ($550°8 DEDE FEFGeSnr JErdmr oSnods
‘wl ; (4) S)E BI5IdNG® Ghidos |FFNE IDrHAadonn Sdofn FE;E) BB
A DARFRT e

ough Work -
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50. Match the following:
Set-1
A) Stichonematic

2 :
0%) Pantonematic

o S
ot ")  Acronemati x 1)
f\m P A 7& <

E U8 g0b TR0 maBoHSD
\ 586 -1 :
A) PEISrGE )

U B) 2otstaseSE m
C) DEISrEE 1)
D) Q35838 - IV)

Identify the correct match between Set I
5881 206050 H8-11 $BG0S ¢

Set- I

Flagellum has two or more rows of
lateral appendages

Flagellum has no lateral appendages and
terminal filament

Flagellum bears one row of lateral appendagés
Flagellum does not bear lateral appenc:g?; -

and terminal part of the acroneme is n

wfofgodhPHD B0k 4B
SEdes” ﬁvdq)sac'&

A B C

I I Y
(2) v I
(3) I I
(4) pil I A%

51. Inwhichofthe

}A’?’u ermatogont

ccon sﬁennatocyies

)\ S EoHEse

HESrS e

wing cells first meiotic division is observed

(2) Primary spermatocytes
(4) Spermatids

DefEs 2kt
(2) P HESrSEeren
(4) Hfedsen

AM 2017

24-A
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2 Genetic Drift describes

(1) Thechange in frequency ofa gene mearly by chance in small population
The change in frequency of a gene that occurs mearly by selection
(3) The change in frequency of a gene that occurs mearly by selection and chance
(4) The change in frequency of a gene that does not influence in any extent '
ﬂa’ns .D@ma") eSS '
(1) r‘.’J:So)_ aTrS® aSrdysomr, alog & @:6506‘ EON Srddy
(2) S8mo So adhy FS:HYIgos® §€)‘(‘1 S50y
(3) oﬁ:'dai’.ltbéom S06cdn S0 ;50 alog TS:PSgos® 1 53‘61) _
(4) =Sy FS5PSgos* EOF Srdy J;’)éoﬁ'éo Perdsn BoRBEFYL

Statement (S):

Reason (R) :

Sgg (S):

5800 (R):

In Periplanata americana opening and closing of stigmata is influenced
by CO, tension in haemolymph and oxygen tenSion in the tracheae.

The air enters into tracheoles and oxygen from the air is taken into the
cells and CO, is released into haemolymph.

J—Y)/ Both (S) and (R) are correct and (R) isithe ¢orrgct explanation to (S)

(2) Both (S)and (R) are correct but (R).is it the correct explanation to (S)

(3) (S) is correct but (R) is not corrget

(4) (R) is correct but (S) is not cemrect

WOTFILr eRNOMT ST @IGoTed SorHFlob So8osn BEHEIL

T3r05 S B0, WFS S50 800 TRNTEINS'A 0 DESS50D
SEEH%S0. §

TS0 TOESE WO HT305mR ISR 0 EroH BH. ETrod
CO,&0 SFarP09 erohi.

(1) (S) 5060k (RIgok 50359 6080 (R) @56 (S) & $0g0S D5
(2) (S) S:8a0 (R) Bot $0505D 3 (R) @558 (S) & $0GHS IS6m 56
(3) (S) %6ghse 5 (R) 565038 ¢
(4) fRPscEESE 52 (S) $6E36 5

‘Which of the following scientists discovered the drug for filariasis
V) GI\LRamamandran : (2) Y. Nayudamma

(3) S.N.Bose (4. Subba Rao
ggaaw 1) SNAL E::‘.\G"@Q é«‘f)aﬁ"énl a‘gﬁé

(1) 2.098. TcSSo8S - (2) 3. Tosndsy
(3) oNB.oHS. T (4) 3. o
Rough Work
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A «\A;j-\
L
QU
55. Match the following: Rt <
Set - 1 Set-11
A) African sleeping sickness — Iy  Plasmodium vivax
B) Oriental sores a1 II) Leishmania tropica
C)' Elephantiasis ————_ IIl) Trypanosoma gambience
D) Malaria _— ~~-‘IV) Wuchareria bancrofti
& 1808 TP 2EDHEWDIR
o B8 - T 5¢ - 11
A) sRE 88 g6 [) &FBdco 378 A2 ”
B) &ochobd &6 ) &xPcss o 'o :3;
C) JOoBsrdS | ) @& modSe - ( @)
D) - S8 IV) &&000s> arot_s“g oy
Identify the correct match between SetI and Set II \ -
HBE-1 Sobcsn SBE-11 J8Eod S 2T 05050, :?1
A B C D .:q
m - I \Y I age
(2) I TR O Sorid
(3) I \Y I I p. (4 (Xt
(4) I I I N X\ ™ a
56. The cell organelle involved in the formation gt'a flagelfum/cilium
(1) Mitochondria (2) Lysosome = 4 sal granule  (4) Golgi complex )
E7gfdn / 398 & Bob Seroiisn @oﬁ‘?d‘}
(1) ms*wo@oar 2) 6@‘?5‘?1 @) @Q‘déeﬁé (4) ™9 PHosHsm o
57. One of the known largest coding gene i lthUmans
(1) Dystrophin (2) Haemoglobin Insulin (4) Myoglobin 5
SriPod’ ©d SEIS HoEBE 2505 . : s
(1) &&eS R FErTOS (3) 1390 (4) HBrTOS
58.  Which of the fol @" yertebrates are jawless 61. Hur
Chondriehthves (2) Osteichthyes (3) Cyclostomata (4) Amphibia (1)
8 cs::cse:o,aa SERGES0 )
(1) soasida’ (2) 2868 (3) PEFIoir (4) soddas> -
59. Klipefelter’s syndrome has the following phenotype and karyotype (1)
1) “Male and 47, XXY (2) Femaleand47, XXX 3)
. (3) Maleand47, XYY (4) Femaleand 46, X
- 35?.:95 DOES & (Bod Egrsdn Sobckn SEENES SPNodkS
(1) PSR Sodosw 47, XXY (2) é Sobasn 47, XXX
A\ (3) HEH So0cs0 47, XYY (4) & Soocs 46, X Rough W
AM 2017 26-A S2
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L £\ 7/_ (L\\ ‘\{\\7d+‘\‘ [z

?”J“;@ < 4
N\ % .8 3 ?Q_\\

+f oA

When a white eye Drosophila male (X" Y) is crossed to a red eye female (xR XR), in the
F, generation all the females are red eyed and 50% males are white eyed. In a criss cross
test, when a white eyed female (X' X') is crossed to ared eye male (XRY), the F; generation
off spring had white eyed males while the female offspring had red eyes. Instead of crossing
of a white eyed female (X" X") to a red eyed male (X® Y), white eye female (X X") to whité

eye male (X"Y) is crossed, the F, generation will have the following phenotypes and genotype:

\/(() All females have white eye (X" X", X" X") and all males havered eye (X" Y, X'Y)

(2) All females have white eye (X" X", X* X") and 50% males have red eye (X} Y, X’ Y)
(3) 50% females have white eye (X" X", X® X*) and all males have white eye. (XY, X"Y)
(4) All females have white eye (X" Y", X" X") and all males have white eye (X" Y, X'Y)
Botsne SAEFve (X' V) Jgsse sd@@ve (XX XY) & d68y,0 wgam, Fp sss0s*
©d) sdEHoo JBEe (XF XF) So00k0 50% Sordden BussYENXTY) 08 samow. 538
Didgorr, Butine edddd (X X") Jgsine 2red (XN Y)S soxo 288, F) 8dos* Soriddod)
Bokine BN wEdHed) JGESe SdauTon. BgEY edEdd (X' X) 2 e
560 (XRY) & sost0 20bs abher, Buse cE#0d (X° X) Busse SorEd
(X" Y)&* Sod8,0 a&dm F| 8605 £o &)fgiphe SH0d8s adogdrdo &om todd.
(1) ©d) sddHeor Sossos (X' X, XK 3ot @) SodHes JEES0)00
(XY, X"Y) g8@cs0das
(2) o) sd£PHen é‘eas'a’walega (X" Xr Xr X") 308050 50% SoddHes EES)e0
(XY, X"Y) 69asm)d
(3) 50% esd#Heo SosSiod (XBX" XR X" Sop0va0 o) DiZHheo sl
(X"Y, X"Y) '
(4) ©d) & 2o Fegtyes (X' Y, X' X') S08c800 ey SofdEHen CEERSHEN
(XY, X"Y) 38 &5

6.

Human heart'containg4 chambers, whereas cockroach has a heart with

(1) 13 cl_lambers _ (2) 8 chambers
A/}) 12 chambers (4) 2 chambers
SrdPNRoRTey Ko §dainoto. ©d °go¥ Hod e Dowg
a1 1w 2) 8 Koen
(3912 doen (4) 2 Koo
Rough Work
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(A]

@. Vaccifie contains
(1) Only formulation chemicals
4#2) A medicine that suppresses immune system
(3) A disease causing inactivated microorganisti
(4) A chemical that suppresses host DNA
&5 90500dNb
(1) i:*dogéaS oS oacro*en S
(2) ogd AGTEESD esea{ﬁﬁoin TAgo

(3) oBSS50 TS T8 SenrEain Sr Ed

(4) ©8Fon DNA D ooddohn Sahs Sogsn P

63. Identify the organisms that cause ringworm

i)  Microsporum iil) Haemophillus ii1) Streptogeccus

iv) Trychophyton v)  Ascaris ¢

508 00 SenfBoin sEsrod Kfoted i S

i) SoFFFda0 i) T3rpod 1) ° ‘C‘g@;ﬁgﬁ

iv) @?}3&?5 (i V) =0

The correct combination is:

28 JOROS g _

(1) 1,11 ,(Z)/ i, v (3) iy e (4) i,iv
64. Match the following N . N

Set-1 W )T Set-1

A) Caloreceptors £ % D Cold receptors

B) = Proprioceptors K ~ 1) Body surface receptors

C) Frigidoreceptors [lI) Heat receptors

D) Exteroceptors IV)  Receptors found in muscles

& 18od T aéaddaa’m

588 -1 5§ - 11
A) seTRHG @;ﬁns_-w) D Sesssn
B) @ EIFRRHo) - ) erdrgoden
C) p=sowgs) o) &3 rosw
D) erguraTsien IV) Sodoods® ool [TorsTen

Ideritify the c®rrect match between SetIand Set II
5551 98050 H3E-11 HOGS IES0m wdTans

A B € D

00 I m W
Ny m V1 I

\ 3 N IO I
(4 Im 1\ I I

AM 2017 28-A
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65. Match the following:

Set - 1 Set - 11
A) Typhoid fever . I) Streptococcus
B) Ring worm infection e II) Rhino virus
C) Commoncold 1) Salmonella
D) Pneumonia - IV) Trychophyton
& (808 TR =SHEBBD

S8 - 1 58 - 11
A) Barond =gdsw D) Cgigg‘éc%
B) &% 1) 35 3R
C) e zodw ) &30
D) Sgardoir - V) @5‘}3@5

Identify the correct match between Set I and Set II
Kaégg-l 0B é%é—ll 2OGNS Do 2SS0

A B
(H _ 1 I
il I\

(3) g I
4 N I

H—~HEBEO
b 2~ 2 O

66. Identify the correct statements.

A) Ernst Haeckel is considered as father of embryology

B) Von Baer is considered as father of modern embryology

C) Biogenetic law which states “Ontogeny repeats phylogeny” proposed by father of

modern embryology | ‘
Select correct answer
_k1) StatementA, B and C correct (2) Statement B and C are correct
(3) Statément A and B are correct (4) Statement Aand C are correct

HB B0 ST dsods HHowBw :
A) [ BR TS 20&'EE T DarSdodor HEXG.
4B) PEBoEH 8EE VoSS Ty perddodom NG,
€) ®BrEISE Droddn WHsTESw ‘E #D 228 S08 o 22 5§ ITH SOES
A Y W YSoHES80 D300, & dFgoe) SHE DOFEB TY DS DTV PéFrHowrd.
\ \ D588 HXrdsns J8Eed :
(1) argwg A, B S08050 C 5850858 (2) =g@g B %0050 C eo 3063382

(3) agmg ASBosw B e DB (4) agwg ASodasnw Cen DB
‘Rough Work
S2
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67. Match the following

Set - [ , Set - II
A) Syphilis — )  HumanImmunodeficiency virus
B) Cervical cancer \ II) Treponema pallidum .
C) Gonorrhea — - [II) Human paplllomavn'us
D) AIDS _— \\“\\__ IV) Neisseria
& §0d A 2SBELSI0

S8 -1 S8 - 11
A) 2588 D Hoegos asngTavhold, 68
B) #opdoh Swopogd 550 ) @& FOER ‘
C) K360 ) &Horgsos 3‘:.)&3‘5:‘ 368

D) AIDS IV) Ibcsr
Identify the correct match between Set I and Set I1 _
H¢38-1 Bo0osn HGE-1I SOGHS IS 2SBS0 p

-’.

A B 8" © | ‘
(1) I it I \Y Q !
(2) I I I \Y \
B Il m.- -~ W I V
(4) \Y I 1 I NN
68. Name the cancer which arises due t r@s 1 translocation
(1) Breast cancer ® Chronic myelogenous leukemia (CML)
(3) Cervical cancer { ™ (4) Colon cancer-
EaorE e FIodd S 3@, 5o 575550
(1) &80y 5595 s N (2) 95 DSESH egdloosr
(3) dHoydos mwp P26 (4) FoS 5gi6

69. Nervous systami"s dmved from the followmg germinal layer

(1) Mesoderm™ Endoderm

(3) Ectoderm» (4) Meso-endoderm
 SASgEE Bob 288800 Hob DA

(1), Begecsso (2) wodsssD

Oy erirgsgiss (4) Sodg-ewodsgssn

“Rough Work
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70.

Match the following:

Set-1 ~ Set - II
A) Insulin — “I)  Stomach
B) Pepsinogen //_‘:_—‘w II) Salivary gland
C) Bilirubin~ gme=———— [II) Liver

D) Ptyalin/ B el IV) Intestine

~V) Pancreas e :
& 808 TR 2ddGsn L

SISER | 588 - 11
A) 2890 [) - Zodoshsn
B) y&f=s - ) eozo fad
C) Ben&rds IIl) - s8cs0
D) ©c%ds V)
V) ESodeo

Identify the correct match between Set I and Set I1 ,
DGE-1 Bobosn HBE-II SIS DS SEIN o

A B C D

5 5 SR SRS SN || SN
(2) I IV I %
(3) 1\% I I Il
4 Vv Il I IV

71

There will be 6,000 to 10,000 white'blood cells (WBC) per cubic millilitre of blood. A
slight increase in WBC coungis obseryed during infection. This phenomenon is known as
(1) Leukemia \( . (2) Leucocytopenia

(3) Leucocytosis y Leucopoiesis

28 Do YOS FES0e” 6,000 S0& 10,000 Busgsmres (WBC) 0530800, 28
&5°A g§Sns* émﬁé&"ea aﬁomg 5 89,8 o:Sw:Sclé.u HBoT2AIB. & &)F LT
Qéaoés"d::

(1) e0gsdocs (2 ergFRpEstadasr
(3) orgBinis®do (4) orgEFrondd
72. Thestudy offresh water ecosystem is called - :
(1) Limnology (2) Ethology ~ Synecology  (4) - Autecology
VoV S 35898 wPgehssn Tako TPsw
W) OSmerd (2) aged (3) DIsred (4) vGso
3 The lymphocytes capable of producing antibodies and can capture cxrculatmg antigens are
known as
)~ T-lymphocytes (2) B-lymphocytes
(3) Large granular lymphocytes (4) T-helper cells
28 B0l JoFhod Hdokn PE=SE rirsesn ST doPF e
(1) T-é)o@‘_’géfm : (2) B-®oaFpen
(3) m@vo Eelsroinodg Qo pen (4) T=25%0%8 Seoren
AM 2017 ' 31-A ,
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74. Immature bone cellsarecalled‘ .
(1) Osteoclasts }Z) Osteocytes (3) Osteocells (4) Osteoblasts

©H0D8g as?géea‘e.::& &Gomr e |
(1) shdrsies (2) sHET o (3) wRBrEeT (4) sRSraren

75. Ctenidia are the respiratory organs of the following
A1) Arthropoda (2) Amnelida - (3) Mollusca (4) Porifera
Kosveromen & (§0d TS B TR e 5oS)aren ‘ .
(1) sgFs 2) 9= - () Saoam, (4) T

76. Heparinisa _ :
(1) Plasma proteins synthesizer A ,{Qf Anticoagulant %

(3) Fibronectin (4) Thermoregulatory T
B )

(1) & >S5 &8\8 Bos0 (2) @85&066@%

(3) PERES (4) &é@&$

77. Identify correct match between SET-Iand SET-1I '
Set- 1 _ _
A) ECG i ging

B) EEG
C) MRI
D) X-ray

5836-1 $o0050 HGE-1I oo =8

HgE - 1 | 548 - 11
A) ECG ) S Herssn §9boud DBESH H§8
B) EEG : ) BaDS '
C) MRI @ M) o3
D) X—ra@ ' V) RS>
V) sk

< e
—-28<0
== =0
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78. /(I;)zigx_azing food chain the trophic levels are as follows,

Hawks — Spiders — Small birds — Rose bush — Aphids

(2) Aphids — Rosebush — Small birds — Spiders — Hawks

(3) Spiders — Aphids — Small birds — Rose bush — Hawks

&)« Rosebush — Aphids — Spiders — Small birds — Hawks
3

Y Feodes® FAEFonen & Bod GBS adoK
(D) 68 - ddden — HHPer — HDPFE — D28
(2) Wby - KHerdDE — DD — FBHHPen — o]
(3) >oden — DG - HBPen > Herd>E — K
(4) HdFE - pbew — FOen — Dd)dHgoen — ﬁé

79. Loss of calcium due to lack of reabsorption causes
(1) Arthritis ,(Z’)/()steopofosis

(3) Myasthenia gravis (4) #Musculardystrophy
DS HAe SHSNSe s"9oho FShHo S Qdo)cia &:H&é

(1) &s@&o (2) GIBTIFERD

(3" éao:‘iag:‘i)oﬁsv 028 (4) .53:;0&,&:5 AR

The total volume of air accommodated inthe [ungs at the end of forced inspiration is known
as Total Lung Capacity (TLC)which isequal to
Where, TV = Tidal volume
IRV = Inspiratofytesctve volume
ERV = Expiratory resérve volume
RV = Residual volime
moéoéf@) ﬁamfa:’m SHTS H0B8KH oSt ©sdsS Mo S0 50 méa&é:veaéwéa
SOOI F2PII0 wolrdd 28 B JSrSSw
TV=84S Feogs
IRV = esdfngd densd $085880me0 S0
ERV =R dend 055085050

o RV = e0538 50556578053
WO TLC=ERV+IRV+TV A TLC=TV+RV+ERV
(3) TLC=ERV+RV (4) TLC=ERV+IRV+TV+RV
\Rough Work
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81.

PHYSICS
Consider the following statements in the context of formulation of any law of Physics
L explain the existing physical facts
I noneed of experimental verification
.  predict future results

Then, any formulated law of Physics, shouf}l;?rue with respect to:

(1) TandIl (2) MHandIIl Tand I (4) L MandI
FTEETHINS' IJT VD SErQ) Erarodo D0EEBNS* & (Bobd T gos HoKBosod.
L oShws® 93 Fo8 orgos IStosbsn “CN
L @Srmegor 0srd esvssn BEFSLS )
ML #2458 $0os Sirowisn

oy, EroBoSAS FBETE D AHHBS & Eob T &
(1) Isodcsoll  (2) IMSocsell (3) IS:80km Iy

82.

Consider a long solid copper cylinder carrying current I. Thef y:

N\
.q._‘

correctly depict the direction of M B and H 3
NS Bohudis o8 FEDS o8 sgnsus' | deey Fé%*mod&) $8AEB0S08. B

& 8od Hrest D8 M B SoBasn 0“ D208

8 I8
AR ESE (b' ©) lTI
>M Q M
TG

U-

T
(y{ (4) ’TII
A\ ¥ <
W™ > ==
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83. Consider two convex lenses of focal lengths ‘f” and ‘2f” mounted at the ends of a black
colored tube. The diameter of the lenses and the tube are the same. The lenses are separated
by a distance equal to the sum of their focal length. If a parallel beam of light falls on the
long focal length lens, filling its aperture, the output beam of light is best described as
(1) Collimated and smaller diameter
(2) Collimated and same diameter

Diverging and larger diameter D U,
(4) Converging and smaller diameter ' N
s 'f? So0050 2f” rargess Eroen fio Both Soarss §Ees $0d éor{i Fso D36

AHESD. & SLse TrgRbn Sobotn FrLydn argdsn ;oa’:.::één & @oé; gbsre
Sogy SrdSn -8 Tergodore INFoSE dSrddwn. wE eo..’modd 506 Doudn I8 S
Tergods SrESn fo ELEswn ® = fod Indo R ;’oe‘é’:Sa)cm?\Sag)c:&) Vg 5708
Doz & Bod JFSom 2\’35(\:- 590:55153‘3;60. ‘

(1) BSro868B0SwES Sodckn S8y S a’géﬁn ¢

(2) JSrogsdEBosdS HBSH wod EJ‘So)fQ)

(3) JBoBEBoTES Sobcdn JES a‘gcaéoo

(4) ©980HEdoTadS Sobosn ééog,é a‘sso&a

>

84. A uniform disc of mass M and radius'R has a string wound around its periphery and tied
to a ceiling as shown in the! ﬁgtite The acteleration of the center of mass after it is
released
M &§dgo°2 Sobasn R a:sga*@n O 2.8 D868 D) wrirg worh Sodar a8 8K REIREM- BT
BoB050 D EI35K am BSOS DESNM DhoswsSs. & DS 5&6 DSY & @580"-‘6’
Fosn Swg egéa.ma. .

1 7(1"" > T .
(1) & (/. BT (5,
vdls
Ve : =
. |
o\ % ' __
PFANLE: =

N 4

N Q. ;
" Rough Work
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~5y 102y

;T’ 2 5s {7
GAs TR "g‘;";
K2 :
L“ |
a8 £ 85. A bullet of mass 50 g is fired from a riffle of mass 2 Kg and the total kinetic energy :
i;:\ g produced by the explosion is 2050 J. The kinetic energy of the bullet is : !
\ 9 ¢ I
dr e 2 50 g (B5g0°2 Ao w8 S8 Mok 2 Kg 83508 Ko Sor8 008 2e2d88 S08052 |
5 23 & hedd' &S18 ©o0d Bweso K8%8 2050 ] wond &8 ok K8¥§ D ‘#
A T(l" (1) 501 - _A2) 2000
I 3
L i\‘:;.,g (3) 2050]J (4) 585.71] ‘
> o .
S 786, Ifthe coefficient of cubical expzmsion of a material is x’ times of the cocﬁicient.ﬁe@surfacia]

expansion, then value of °x” is .
el awd;’m cﬁxézr 208085 FgF Heessin o T a‘gg‘zﬁ &méﬁm&k x’

Ot é)oB X’ Dend

/(4) St @) 1.5 3) 2 (4) 4

?\

88. A particle ig execiutin.g’isimple harmonic motion. Its displacement to amplitude ratio when

N4 @me T. the kinetic energy of both pamcles arc€qual. Then,

87. Two blocks 4 & B of mass 2M and M are moving alongX dmectlon ona fnctlonless plane.
+) Their instantaneous position are given by ¢ and #% x:espccuw:ly At a particular instant of

1) atT, VA>V3, Yox" a7 V> ¥,
&(’3) atT, V= (4) V= Vp always
IM %bcsn M @5:’:30‘%&&» Ko 4, '.’nﬁo&a B w5 Bodkd B3e0 w§ Wi B2 doon
- 300%HHD. TE DY), SE FIT W S8 t 508050 £ onSadsd. wsSs
doohsn ‘T’ $§, & 0ol gerve NOFEen DEES0. Y
(1) T38.V,>Vp @ (2) T34, V> Vy
@) T35 Vi=Yom @) desyar V=V ‘ r

its kinetic'energyyis 84% of total energy 1s
2wl @S0 ST Joddw Boﬁmﬁa:ﬁi& T K8¥8 3ndo ¥§S° 84% JHaydo &

o:rw{@_@é@ioééw 550050 €0 $oEe RS
1

O\ 1:16 | (2) 2:5
(3) “4:25 (4) 21:25
RdughWork
AM 2017 36-A S2




|

89. Consider two series resonant circuits with components L, C, and L,C, with same resonant

frequency, @. When connected in series, the resonant frequency of the combination is
2B e ZB:HSgEN ‘@’ $OAS Dok @D TS Sodsrost ermen L,C, SoBodn
L,C, vd8sosn. HBY @B EODSHK & Jo@risn BN, T Fot pg)(‘ég;&n

0]
a@( 2w @) 5 3) 3w @) ©

90. Consider the symmetric about the time axis voltage waveform shown in the ﬂgure below

The mean and root mean square values of the waveform are
808 BLBNG® SrdIty STergsn Hdom S Sol BEB S AmNDHoKBotod.
& $Soi wEB By, Hritn Bo0ain difen -STre SESame (Fms) Denden

V (Volts)
y

+Va - - - e - - -

ol T [ar | 3T l4r | ST@ { o e

(8]
—

=Va |_ __ - Bt L . e o

(1) VaVa N [P ANIA

) 1

(3) VoV _ @ Ve

91. Consider twosatellites revolving round the earth at different heights. The ratio of their
orbital speed i§3:2. If one of them is at a height of 200 Km, the helght of the other satellite
is (Radit§jof the‘carth is R = 6400 Km)
Bod @O drdo Wby 3, I AHos® a&@;}aommqp 8§57y 580 NG
3. ;S w8 eHESsn 200 Km 286° 508, H5E /TS0 DNE), I8
(E0 B8y agargo R = 6400 Km)
(1) 8450 Km (2) 845Km
(3) 845Km A 84500 Km

Rough Work
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92. Diodes D; and D, shown in circuit are silicon diodes. The voltage drop (V) across the
| diode D, and the power dissipated (P) by.this diode (D,) are l
‘7 ) Vp,=0.7Vand Pp,=0W (2) Vp,=5Vand Pp,=0W |
¥ (3) Vp,=0.7Vand Pp =0.7 mW (4) Vp,=5.0Vand Pp,=5W |
l\‘:-, . N N i i -
~,
D,
‘ 43KQ ot
D, ANV g
X | =
L
-
DLINS* FrBwdS S0abInS® D 50050 D, ESFE e 2055 d@rbe. Dy 68306
4 D3ge Sy SPa 885 (V) Sbckn ks Bgo (P) |
X
\
| (1) Vp,=0.7VSdcsn Pp,=0W
V1
(2) Vp,=5V Sodas Pp,=0 W
(3) Vp,=0.7VSo0aso Pp, =0.7 mW
(4) Vp,=5.0V Sodgso Rp, 75 W
93. A thin bi-convex lefis (n=1.5) has a focal length of 50 cm in air. When immersed in a
transparent liquid, the focal length is measured to be 250 cm. The refractive index of the
liquid medium is _
o8 DendN Bgtogrs s ELEsw (n=1.5) mo&s* 50 cm Tergodd drdSnds §9AHN)E.
TV (8 P EEGHE (BS5506S° - S0oDSYHL 5O Tergodd drdsn 250 cm & |88
SIRSESD Do), SEASS KoeagSw .
(1)%1.33 : 2) 146 7 .
(3) 1.30 L AN “ 136 o
. 4 {"7 i - “-{.) - R a0
C{j ; = ‘rf‘l v Lol /\:" .:“ e "?:l;
Rough Work g\\S s ‘ .C:L : g X - |
el o L Sl |
: ¢ - \ft. Ay ‘}
VR e (S2
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94.

Which logic gates mentioned below have the output value ‘0’ when both the inputs are “1

8o 55085 D 86 treoen, Tods IFF Densen ‘17 syt 07 AFS eosdH €0H
Hotron '

(1) OR,NAND . (2) AND,NOR

)}«Y AND, OR _ (4) NOR,NAND

| .t

Two projectiles of same mass have their maximum kinetic energies ifithe ratio 4:1 and the
ratio of their maximum height is also 4:1. Then the ratioof their range is

28 ($S55078 SOAS Do HER SPo Koy Ke¥Re IS ] Dok T8 BnE), KOG
Qo NG 4:]1 odyd T8 Fge QG

(1) 2:1 (), 4:1

@) 81 @ 16

96.

A motor car is approaching agoad ctossing with a speed of 108 Km/h. A police standing
near the crossing hears thé'frequency of the car’s horn as 300 Hz. The real frequency of the
horn is [speed of sound ‘tn@ir =332 m/s] r\

28 Brirds 5 BE S aPEDoRS 108 Kivh $88° $arb9)8. © FRof 5§ donds
O & 5 PO/ SR 300 Hz 5:9Sgsnd” 08, & FPESH G0 DoF), 2
Fo:PSgn oS’ g $& = 332 m/s]

(1) 30@HzW - (2) 332Hz
(3N 278 Hz y 400 Hz
: , Rough Work
S2
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97. The electric field for a plane, electomagnetic wave travelling in the + ydirection is shown

in figure. If the electric field of the wave E is in the Z direction, then the g field is
,()/ In the x direction and in phase with the E field

(2) Inthe x direction and out of phase with the E field : .

(3) Inthe zdirection and in phase withthe E field |

)

‘ N &
(4) Inthe zdirection and one fourth of a cycle out of phase with the E_field

il

J

+y &¥S* PASrBod af dhde aﬁ:gﬁo&zﬁoé SEonB0N8 Ddoge? S50 HSnes*
Sr5a858. Storisn Sk DS Y E. Z 846" a8, B d8s0
(1) x 8¥s* Hod E Sges” o SFS* Hotod

- (2) x &¥eS* Hod E SHoShEE S¥S® Yok

(3) z 64" Hob E &60@‘ 28 S¥e* é)oé.)ao&
(4) z 6% Yod sbaso Hgos* é S0 E Bos’ ' $obs

98.

Two metalifods; rod-1 and rod-2 of equal length are welded together end-to-end. Under
steady state conditions, when the free end of the rod-1 is kept at 100°C and the free end of
thewods? is kept at 0°C, the temperature at the welded junction is approximately

(S[Thermal conductivity of rod-1 =92 Js"' m™"K~! and of rod-2 = =163 mI K
B3PS FED SOAS §§-1 500050 8§-2 @i Bok S EGeo a8 TR DSE HEES
0D wdSowrdd. é% 1'?050;) D385 100°C Sodcsxn éé 2'?05:331356;63 0°C 3¢ HodSYk,

Qoid P8S" JHdydd, Boda §Go whEndS Jo 5§ GPPE DIrdm
[84-1 aga«mésm =92 Js7 ' mr! K So60to 84-2 % agpmgésms =16 Js'mT K]

(1) 85°C (2) 50°C ( 13°C (4) 95°C

AM 2017 40-A
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A 2 mm? cross-sectional area wire is stretched by 4 mm by a certainweight. If the same

99.
material wire of cross-sectional area 8 mm? is stretched by the same weight, the stretch
length is, ) '}/
2 mm?* So&giyes STogsw o 84 Fod 5rE30s® 4 mm i}viﬁéoﬁaa&é‘é. Ya) éa’_/g.cﬁné‘ -l
Boad 8§ mm? So&gEe BTgodn fo S0k ©o8 FESns® FHEDSHE RS
Fhde
.(‘13 2 mm (2) 0.5mm
/ (3) 1mm (4) 1.5mm
100. Consider two surfaces $; & S, sharing the same open cireular boundary C, as shown in the
figure. If ¢sl and ¢52 are the magnetic flux through thése surfaces then
BEENS* SrDS DESM BEVS o8 [yEES AP S S ok S, 6 Todks
SH0Sren How0LNT)00 @&&omm.'¢sl HOXB0 Py w0 © Dok GHdEer®
Mom FSd WoHI o8 WHITTTS
| ( ¢s]>_¢sz ‘ _ S,
(2) ¢Sz>¢51 W A
(3) s =os, | ~ A
— = " ) (\.
(4) ¢s,=95,=0, e
\ (\ b - ~
- [N
. ~J
101. Ifa unit vector i§tepresented by : i ‘\\ ooy
| e g e
0.5i + 0.8] +.ck | Wis sa N e
then the value of ‘¢’ is
28pSro 8% 0.51 + 0.8] +ck B SrdoSwadd ‘C deod
(1) 1 2) Jos /(3) Joar - - (4 Yool
Rough Work =
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102,

In football sport a banana kick is an off-centre kick that makes the ball curve or suddenly
change direction mid-air. The player achieves this by imparting revolution on the ball while
kicking. The physical principle that best describes the banana kick is

(1) Hooke’s law (2), Bemoulli’s law

(3) Torricelli’s law Newton’s law of motion

2.€ Y LS ToEds Erdom w08 wd) BEBhod 8IS & ©od SEIVS
B md HgeS” o8 FOm GiEk Srg)Sootnod. SHLY 2o HOEHmSL EONOWEDN
oo smd &) FHodhods. w0 S50 wgSoom S8oB F8ETY PETodien
(1) %08 dcHBosm

(2) BN dossn

(3) oD B0y, dFToddw

(4) Srglos BE), A0S Ao Sren

103.

A linearly polarized light is incident at Brewster’s éngie onithe surface of a dielectric
medium. If the incident beam is polarized parallel to thg—gjaﬁgpfiﬁcidcnce, then which one
of the following statement is correct? s N :

(1) The incident light will be completely refleeted a;ﬁdgﬁb light is refracted at all

/@’ Half of the incident light will be reﬂect‘e&md-half of the light will be refracted

(3) The incident light will be completely refracted and there will not be any reflected light

@) %rd of the incident light willlbe reflected and the rest will be refracted

28 3P §08 5708 o8 FEHSNSESD $HOSL0 D @RS Fedn 3¢ SSIHHDNS.

585 508 Youdn JES BoBNILH sSroddor GPIPE, & Bod FEgeS 28

HOGEB? N - |

(1) 383 5oF WL H075ES5n Bokdod 538050 5708 Jod SrES0 SEFSHB0
leYa{~") - :

(2) Dl F08S* Hrs0 HTEEHZN BoK0s BB HiSH SESSI0 Bokdod

() 985 868 Ingo SFSH50 Dotaded Hdckn 08 Jod Sogo HorSEHB0

Dot
N o |
(@), 385 085" —So& STSYES0 Boksod 208050 A0S rhsn SEFS5I50
BocSod ' '
Rough Work
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104. A physical quantity Q is related to four independent observables o, ff,cand das O = %
; ‘ c

The percentage error of measurement in &, 3, cand d respectively are 1%, 3%, 4% and 2%
The percentage error in the quantity Q is then

' ; 3p2
a, f, c 508050 dess Toai Jgdold Hotodeon Qul F88507% O = a\/ﬁ 502305 30eS”

cd
&0d. o, B, c 208csn d & SaTeon SK3m 1%, 3%, 4% 200085 2% woxnd O
- ~ ™~
Fas0es* ShTES0 &y +
(L’Jf‘l‘ /, 4
(1) 5% (2) 10% 3) 13% /K 24% \\_\; POl |
.J?\_ N\ Iy

105. An electric motor driven pump fills an overhead tagk placedat a height of 20 m from the
ground-level sump at a rate of 20,000 litre watér per hour. The motor has an operating

 resistance of 22Q and is connected across a 220 source. The efficiency of this motor is

(Use g=9.8 m/s?) “
w¥ DogS Brtrdrs® Sdodgd) o FmTe oY K08 20 m IKSD I8 §FS'E

Kows 20,000 Hg B THE,I0QPHAG. & Srirdd B, HBEH ITEIR 22Q
550050 D 220 V 258505% $0TE. © Irird SoY), GES

\ ~N
R

(g= 9.8 m/s* m 8080l X n

(1) 12.5% ' /c})’ 73.5% v; ; j&\__,,

0 A 0 = . 4
(3) 49.5% _, | (4) 22.5% i

Ty

106. When a hydrdgen atom in n =4 state de-excites ton = 1 state, the wavelength of the photon
emitted [R=11097* 107m1] is

n=4 o Fod n =1 Fons TE=S HoErmHH ©HFuo F0B0IIHH, GFY
. | «

RS By, SGorBg g [R=1.097 x 107m1] : A0
(1972 nm (2) 103 nm £y : A
' : \ 9
(3) 200 nm (4) 400 nm | ‘”\ D I
Rough Work
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107.

Two circular discs with masses M, and M, and diameter D, and D, respectively are
designed to have the same momerit of inertia about the axis along the diameters of the
discs. If M; : My = 9:4 then the ratio of their area Ay : 45 18

Botk TS Do (ESgoHes M 50050 My 500050 8 argren SHIM D %8050

D, oo, & Dok DHoD T8 TgTe Jowd HI egosdom T g @a*éa_s'eb \

HSrSHcgln Erdrobomdd. M : M, =9:4 ©ond T8 3Torgo IPd Ayt Ay
(1) 3:2 @23, (3/) 4:9 . (4) -81:46

-108.

Consider a car moving at a constant speed of 14m/s around a level Circtilarbend éf radius
45m. The minimum coefficient of static friction needed between the.cartyres and the road
so that the car goes around the bend without skidding is LA

l4m/s REBK50S* o§ 560 45m Tgrgsn §o wf 25580 BErs s Sony Wby
Posredonddb. © sd $oy by FdRoE @oﬁpﬁoé&’a@éoé s By 0w
g% Segho §03 RBE B HesE ‘ ‘

(1) 044 2) 1.0 JE7 45.4_' 7 @ 0.

109.

In the circuit shown below emf of each batteryis 5V; and has an internal resistance of

1.0 Q. The current in the circuit (To)and the reading in an ideal voltmeter (V) are :
& 808 STrHwdS Sodhod’ a5 S obodn @wE), Degay o8 e SV 500050

sosgs 26'GEs 1.0 Q 3689V Dcss Boirsw () H0oks €6 Segarirbes®

8&0h (V) _-——-{ l‘-_“ N

, A%
D 5 g
o .
' | |
ikl ]
(1) T,=1A,V=0 2y 1;=5A,V=0
3) Ip=1A,V=1 (4) Ip=5A,V=1

Rough Work
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110. An oil drop is negatively charged and weighs 5 * 10~* N. The drop is suspended in an

electric field intensity of 2.6 x 10% N/C. The number of electrons the oil drop carries is
2.8 0 BET0s Bo Dok 6 5x 104N, 2.6 x 10* N/C 8$8 o g Bgow’
& 8o Dok Beordpdd o 8o Doy Ko dogHe Somg

(1) 8 & 10

(3) 16 | 4) 12

<o
\"‘y

111.

A metallic pendulum bob of mass 300 gm contains a charge of 1 C, and isisuspen‘ded by a

 thread of length 5 cm. When the system is placed in an horizontal eleetric field E ,thebob

gets displaced by 4 cm as shown in the figure. The valuciof ll E| is estimated to be
[Use g =10 m/s?] :
é Sl ol FEsH ESgo78 300 gm So00kn wSdw INC. 28 5 om >dY do

6508 Ferdbobndsn. & S55g% E §8ag5nbsgicgs §gest §oasHd, ¢
- =
S0 Hhsnst Srhd DEsnm 4 cm Tigieisn 30656, | E| Sng, eoss deod

[g=10 m/s* ™ 80504] , PESHEL I8
ol NN \scm __
(1) 4V/m
————— e Nl
) S o RGO ), S ) SRS R
W 0
(3) 20V/m

}5)/’1 5V/m

112. Two longstraight wires are parallel and carry current in the same direction. The current are

8 0A arid 12'0.A and the wires are separated by 0.4 cm. The magnetic field (in Tesla) ata

point midway between the wires is _

Bod MBS 8IS HIrosy Srod 28 BFS® ddogely PIToBWHB. @ 8fos®

BB deogdy 8.0A Sodakn 12.0 A S5ba50 &Ko Sogg Srosn 0.4 cm Bod 8fv

B0gss Dok 5 wobay o8 o (B : £0

V(1) 0 @) 40x104 _@B) 80x10*  (4) 20x107
- Rough Work
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113.

-t=4sare - A

The displacement of a particle moving along x - axis versus time is given in the figure
below :
The average velocity, V,,, of the particle in the first four seconds and the velocity V of it at

displacement (m)

%é@oéﬁw (m)

. ,
0 SR A S e L
S A T - T
time (s) -
sPOS0 (s)

X - ©gsn Sonsd SO0 Kl Y, TIGoFERE TEINS IES HLBNS* aSEESH.
3NES Teok DEDS' © Endn B, MR Bifso V,, oo t=45 5§ T
3550 | _ . '

(1) Vu,=-lm/s,V=-1m/s ‘(,B/Vav=1m/s,\f=' 1m/s

(3) Vu=1m/s,V=0m/s (4) Vu=—1m/s, V=0m/s

114.

Kepler’s second law states that the radius vector to a planet from the sun sweeps out equal
areas in equal intervals'of time, This law is a consequence of the conservation of:

(1) Time s Wass
(3) Angular momentum 4) Linear momentum

356 BNGFBRIHMACHRED BS 5o, Hrdgd $08 B o8 YY) §TL H6F Fgrgo
2508 TSt $5rd Prorgody DS0sed. & JoHHIN & Bod R&geesn
Do), HOFB0

AM 2017 46 - A 3 : @

() “Sosn 2) ©sg0%
3) Sdon gsgBKS0 (4) Bhos S5gINBN
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115. Aproton is released from rest at the origin in the presence of uniform electric and magnetic
fields E = Eyz and B= ByX. If x(t), y(t), and z(t) are the co-ordinates of the particle at
time ‘t’ then,

(1) z(t)=0 at regular periods with motion restricted to yz-plane

(2) Theparticle will travel along a circle in yz plane with origin as its center

(3) y(t) <0 at some time ‘t’

{4 The particle undergoes simple harmonic motion _

28 @S D858 Dogs $00a0 wahd s Femes E = Ej2 SopasunB =B, d50§s0s*
Sarodoth 34 Ao 38 o IhSe IhwEIs. ‘I’ Foin 3§ © Sesn IsrsTe
X(t), y(t) Sobosn z(1) wond

(1) yz-8erd8 508 BoTQ) 5OA, 5 eSsFe S¢ () =0

(2) Beadw yz do065*' SaredodYd Sodomsfe, .8 -5a§o Jod (PoSredned r\fD“’
‘ ; ~ :
(3) So8 sosn T 3§ y(t) <0 r°

A ZA

(4) Boodn H6¥ ToE)E Sossoss B0 BHH

116. Whena 1 cmthick surface is illuminated with light of wavelength A, the stopping potential
obtained is V. But when the same surfdce is illuminated by light of wavelength 32, the

; o & . .
stopping potential obtainedis —60—. The threshold wavelength for this metal surface is

L cm So0880 g SHSE) ‘L’ SE0rBY S0 Ko 57088 H86H51 BoboDSYK
DEES TS SBIHS Vo, 52 08 &5080)) 3) $50r3E 550 Ho 5088" 86550

V "
BoBoFIE VS FBIHS ?0 6 ST Sosn B, sl d¥or BEgSn

/62?»?‘ - L2y > 33

@)\ 4% R

.‘Rough Work
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117. A nucleus disintegrates into two nuclear parts which have their velocities in the ratio 2:1.
The ratio of their nuclear sizes will be

2§ So|Bsgdm, 2:1 AQYBS”® Smren £OAS Dody BodE e DHSSN BobIB. [
wond T8 ToE HoSrmre A

1 _ 1 & P ¥,
(1) 23:1 @) 1:32 %;23 (4) 32 '

N-

I B

F i

118. The driver of an express train suddenly sees the red light signal 50 mggheadmd"applies the
brakes. If the average deceleration during braking is 10.0 ms 2 and.the teaction time of the
driver is 0.75 sec, the minimum speed at which the trainshould be'moving so as not to
cross the red signal is _ QO\J
2§ IO Dow TSk &8 Swodd 50 m ErdSns’ BE ST 60D 508 J08ER)
S, Bown Brdho. @ovn DB, Jw HegORg 10.0 ms2 SoBasn S'EE8
Syt sosn 0.75 DS sond, & J90I o] o8 Foom Hodts, Yo
BoSrBoSSOS S 58 N\

(1) 27 Km/hr & @S 1sKmhr
(3) 72 Km/hr N }%‘ 83 Km/hr

W3

-

119. When a mercury thermometer isinserted in a pot of hot water and the reading is recorded,
what temperature is beingieMgﬁ,
(1) = Average tempepature &f water and surrounding
(2) Average tempcr_aturee:off thermometer
(3) Averagegéniperature of water and thermometer
&) Temperature difference between water and surrounding -

& robofgprssint 38 86 fo Sodd" So0D BBothis $3r% Becd. I3
Sofnds FEES & Bod T JrdRed
o S0 H0STe Bk SRS
Q) SasrHEsn Bikn eHED
") (3) 56 0o sRSroEe ditn SRS
(4) bk $:00%0 BOITE GRS BEINS

4

" Rough Work
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120. A metal jar has a gas of volume 10m?’ at a pressure of 2 x 105 Pa and temperature 400K.
| The jar has small hole and hence the gas leaks into atmosphere. The pressure and temperature
w of atmosphere is 10°Pa and 300K respectively. If R is the gas constant, the number of
| : moles of the gas that has leaked into atmosphere is

o€ S =8 10°3m3 foshosresn, 2 x 10° Pa DESsn S000in 400K e, 59
‘ fo TcdnHd 508 PIB. © 8 o JI[W So@sn Tgo” TN TeTRWeT I8
| e (leak) ©9E%08. TeSdnsn Bog), HESEN Kook GRS I5IT 10°Pa
B - 308050 300K. ‘R’ @9d0d88 a7add %U’os’fm ©oNE T S8c05065° A8 DA HONHITCINJ)

IrSee®
ke "
CEagk - @ &
/c:ﬂ/L 9 €
v 7R _() S8R
Rough Work

Vo

AM 2017 49-A

S —— A A




R

£

X

CHEMISTRY

121. Which of the following reactions will not produce H, gas

(a) Fe + HCI dil

(b) Zn +HCl dil

(¢) Cu+ HCl dil

& 808 Wgod® Q W6y Hy Tosnds ¢80 Sckd

(a) Fe +%=e HCI

(b) Zn+%2o HCl  (¢) Cu+%2o HCl  (d) Ag+%ee HCL

J,y)/a,c,d (2) cd X ad (4) b,d g

122. Q LiAlHy  p oo RMeX P
H,0/H*

the products P and Q are respectively

(1) 1°-alcohol and 1° - amine 9)/ ketoneand 18- amine

(3) aldehyde and 1°- alcohol (4) 2°- alcgholand 1° - amine

0 Li AIH, R_C=N R'MgX. p

- H,0/H’

P 308030 Q s dTmen Sdhdm

(1) 1°- se) S Sobasn 1°- IS
(2) £&°S S06csn 1° - AS

() ©§s Socsn 1Y e sid
(4) 2°- wepdsS 5080509 1° - 2208

3. The chcmical_fonhula of ‘Feldspar’ is

PG G B0 S e
GYwNa AlO,

(2) NajAlF,
(4) K;804- Al (SOy),- 24H50

(d)Ag +HCI dil

Rough Work
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124. An element with a mass number of 81 contains 31.7% more neutrons as compared to
‘ protons. Identify the element

| B350°2 Sopg 81 Ao a8 Soroidnd® @irsed® FOIYHE Srgerses 31.7% wisomr
. : §od). Sros) hiodod

' (1) Sc (2) Ba

W Br (4) 1

125. In which of the following reactions, Kp is less than K

M 004, = 2N05, 2) g, Py,

(3) 2802(2) + Oz(g) = 2SO3(g) (4) Nz(g) RO, »= INO(,

(2)

& (§od Wogees', Kc8oB Kpdsy sm &) $g§ 0a?

(1) NoOs,) = 2NO; (2 M) = Hy) + I,

(3) 2802(31) - Oz(m) - 2803@) (%) N2(a~=) + Oz(m) — 2NO[_J,)

126. Which of'the followihg canexhibit geometrical isomerism?

(1) Tetrahedral —[Zn(NH;),Ch | (2) Squareplanar —[Pt(NH;),Ch |
N
- +2 . g B
Octahedral—[Co(NH3)5C!] (4) Linear —[Cu (CN)Z] \ i YRR
. 7
& 808 E 8" Y wrgDobah F)igsn BEB0BEOH? e e
(1), &S —[Zn(NH;), Ch | (2) d%de ﬁa:a@_[pz(NH3)2C121 <
: 1
(3) ‘gsdas —[Co(NH;),CI]™ (4) 3o —[Cu(CN),] )
' . \'{ F \
- A 1l %, R s
_ _ ). |
| ‘ Rough Work | ! t kW {) _»C.L' L 7o ™ J,:f
| S ' S2
- , } "*";3
AM 2017 51-A
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127. The product formed in the following reaction is:

Bod WS A G EHD0 :

OH
Hs (excess)(ew5E50) P
, Ni, 473K .
Under Pressure
S (bass580s*)
OH 0
(1) (2)
GH: -,

# @ %
1 128. The order of acidity of following acids is:

& 1§00 siro sl Eo :

COOH COOH COQOH COOH
NO,
) NO,
: NO,
() (11) - (i) (1v)
(F) >iii>iv>i (2) m>ii>i>v
(I iv>ii>iii > | &Y w>ii>ii>|
Rough Work
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W
129. The molarity ofa9.8% |:W:] of H,SOy41s

L
W
9.8% h,—] H,S0, Gng, 3re6d

(1) 1M 2) 0.55M /g{o.lM 4) LIM

~ 130. Identify all the compound(s) that are isostructural with CO,

CO, & d Joppesnte o) Ao Koded

- (a) BeCl - (b) SnCl, | Meﬁ_ : ~ {d) C;H,
—())/a,b,c (2) a,b;d
(3) a,c,d ' (4) Pa b, cd

options

ooS JobhEe ood 5052880 8¢ a;wgag Tirgde $B8 ESr) KHgosod
(1) LiCl>NaCi>KCl _ (2) KCl>NaCl>LiCl,

(3) NaCl>KCl>Li€l/ _A4) LiCl>KCl>NaCL

131. Identify the correct order of equivalentconductance at infinite dilution from the given

132. Fora van der Whal’sgas, determine Boyle Temperature
[given@=4. Satm L2mol 2, b=0.9 L mol" andR = 0.082 L atm K~ mol ']

FosE TS TB0HE wrond GFEE Qgoxotod

[eiven a=4.5 atm L’mol 2, b=0.9 L mol™! $o80s» R=0.082 L atm K~ mol ™! oncead36 ]

AL 609.8K | (2) 6.09K
(3) 273K _ (4) 60.98K
Rough Work
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133.

Calculate the total energy of one mole of an ideal mono atomic gas at 27° C

(1) 900Cal (2) 1800 Cal (3) 7482 Cal ¥y 0 Cal

27° C 3¢ o8 & JESESTens 888 TaPh B0, dndo ¥ Hedotod.
(1) 900 seben (2) 1800 swben (3) 7482 soben (4) Os0bd

134.

Which of the following compound is an allylic alcohol?
& Bob HAFTOS® DB IBOE By FS?

CH=CH - CH; - CH, - OH CHZOH

(1) /2')

CH=CHCH,

' CH=C(CHj), |
(3) (4) ‘

OH CH,

CH= CHCHEOH

135.

Under which of the following'eonditions, a real gas shows maximum deviation from the
ideal behavior

(1) 100°C and 2 aum P (2) 0°Cand2atmP

—-100° Capd 5atm P (4) 500°Cand5 atmP
& Botitonsnds JtnSol H0pHes’ JaTanD SEs) BSES B8 Hog dFeTRY
R E8YIeS?

(D 100° C 556050 2 ewéry P (2) 0°C $:8050 2 wiry P

(3)" —100°C %8050 5 wiry P (4) 500° C Sobos0 5 ety P
Rough Work
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136. Bhopal gas tragedy was caused by

S5 rS Trosn Cﬁagaéoé 3D Sod =20a58
CFC (2) CH3;NCO
(3) GCH3N (4) CH;CN

|

[ 137. Duralumin is an alloy of

| - Boorengs B B8, oo S
| V@( Al, Mgand Ni

\ : (2) Al Cu,Mgand Mn

t _ (3) - Al,Fe, Caand Ni

i (4) Al NiandAg

| 138. Assertion (A): The convérsion of diamond inte,graphite is an endothermic reaction

Reason (R):  The conversion of diamend into graphite is kinetically very slow
(A) is correct (Rj is the correct explanation to (A) | "

(2) (A)iswrong (R)isright

(3) - (A)isright (R) is wrong-

(4) Both (A)and (R) aré wrong

PS50 (A): BB RET 537 @EH GYTTE S8y

800 (R) FBOES (mpir o8y ©iEch déaddor Ter Iy S8

(1) (A)y®BSBUR) ©558 (A) 8o IS 2580

(2) (A)eiss 85y (R) o558 336

(3) LAY woss 8888 (R) ol 82y

@) (A) 50050 (R) e503D S5y

Rough Work
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139. Calculate the reduction potential at 25° C for Fe®" / Fe?" electrode if the concentration

- of Fe?* ion is 10 times higher than Fe** ion [Given E’ gt /g2t ~0-TTV]

Fe?" wairS mgd Fe'© wairS €08 10 dén whdormr adyd, 25° C 8¢ Fe’* {Fe

Jogs @Bw), EohEsen 5 Adosos. [E e

[pet* =0.77 V onS208358]
(1) 071V _ (2) 071V
}}y -0.34V (4) 034V

140. Which of the following ores are concentrated by Froth Flotatién

(1) Oxide ores : (2) Chloride ores “»
Qﬁ/ Sulphide ores (4) . Nitride ores |

& 806 THYOS® 3B 38 BEH T JOEEBAE?

(1) «8)& TédhHe (2), 565 ToHen

(3) 388 zrdHen @) 386 rHH

141. The number of atoms in a hcpunit cells is

hep HSore0 S0 (unitcellShe' &od H8SranHe dopg

(1) 4 oA 3 12 @) 6

142. The Hybridisation of N atom in NO;, NOE and NH 4+ respectively is

NOZNO; s9oio NH, o6 N 565r0 Gn§, So8686m5n S

(1)"sp?, sp’, sp » (2) sp.sp?, sp?
(333 sp, sp’, sp’ P i sp’, sp, sp’
: libugh Work

1S2
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143.

Calculate the reversible potential of oxygen electrode in a solution of pH = 1, when the
partial pressure of O, is 1072 atm [Assume E(C)sz"HzO ~1.23V. vs SHE at 1 atm and 25° C]
aggas FEE eSS0 10-2 atm. sonsHd, pH=1 d00s* &), wijEe Qggé R0y,
&), SosBa ¥5R) Adosod

[EQ, ju0 = 1:23V. v SHE25°Ci5o0cso | atm 3¢)

(1) 119V /zf 171V 3) 120V @) v

144,

>

The compounds.that are soluble in aqueous NaOH are:
NaOH zeo @Se0oc® §80 930 ¢Ten

OH ' OH
COOH )
é fe
, €HO
(1)

(i1) (iii) : ' (iv)
(1) (@), i) and (iv) o 7 (). i and (iv)
(3) (i), (ii) and (iii) o= _ (4) (i), (iii) and (iv)
145. The mass and charge oflene mole of electrons? respectively is

(1) 54.8 x J0=LKg; 9.65 % 10* Coulomb
(2) 5.48 X107 Kg;9.65 x 103 Coulomb
(3) 5A%% 10:74g;9.65 x 10* Coulomb
5.48 x 107 Kg ; 9.65 x 10* Coulomb
JE IS JoFgee (85507 o850 wBfSn 6B
@), 54.8 x 1077 Kg; 9.65 x 10* $r053)
(2) 5.48 % 107 Kg;9.65 x 10° §roSy)

(3) 5.48x107g;9.65 x 10* Srod))

(4) 5.48 %1077 Kg;9.65 % 10% $r0 S

Rough Work
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146. 4CIO;(aq) - 3C]O;mq)+ Cl(;q] is an example of

(1) Oxidation reaction ~ (2) Reduction reaction
J}f Decomposition reaction (4) Disproportionation reaction

4CI0; () = 3CIO, () + Cliye) 838 B8 &Tordemsn?
(1) s oy (2) Eo8sm 65
(3) 2w 36 (4) es>s S

"147. Actinides have hi gher tendency to form complexes than Lanthanides, due to
higher charge and smaller size (2) smaller charge and largersize
(3) they are radioactive (4) they are eléctropesitive

. roER38® $oB s§3Fen PoZapold J6YOH gt ©H80M 88 & oo, JodESm
(1) =88 s3¢50 S8csn vy J0Sresn

(2) ooy uFdsn 005w w8 $65r0050
(3) 2 ‘ééoﬁra‘%é BIORES
(4) ed &S Qg8 Zawocj;m

148. Which of the following statements istrue.about a catalyst
(1) Itaccelerates reaction by decreasing the free energy of activation
(2) TItwill be consumed in the reaction
(3) It makes the reactionfeasible by making AG® more negative

%) It makes the equilibrium constant of the reaction more favorable for the forward
reaction :

“B)680 K8odu: 80 TS NOS Trgwmg AB?

(1) w3=¢ ":05_13;) 78R &hod WEgS JKSodo Biyob

(2) »8'EEge IVSrKo Bothreod

(3 AG" DS I8 S e go B SUg 26KLrA8 S50 B08

(4)\ 028 g DRSS RorosR) Yorrdo WK QEYS wosroom Sr8dos

Rough Work
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149. An alkene that provides only Butanone-2 on ozonolysis is
- (1) 3,4- d-imcthylhex -3-ene (2) 2,3-dimethylhex - 2 - ene
(3) 3 -methylhex -3 - ene K4 . 2,3 - dimethylpent - 2 - ene

LETONS Ty eaagéa;S‘S—Z—'&:; SrEd 28 wdH) S
(1) 3,4-320365§-3-45 = (2) 2.3-30p6E-2-&5

3) 3-285wE-3-65 - (4) 2,3-2056005 -2 -5

150. How much PCls must be added to a one litre vessel kept.at 250° Chin order to obtain
0.1 mole of Cl, gas [K for PC]S(E) = PC13(ml +C12(g) 15 0.0414 mol/L]

(1) 00341 mole (2) 0341 mole (3) 0247 mole (4) 0.024 mole |
0.1 3r& Cly arcsnydo Sodasss 250° C 58 o) A8OLGH IS Jod HOSFS0
PCls SevdSoaingo? [ PCLs_ < PCly N4 Clyet’s Ke=0.0414 306/0)]

,«)/ 0.0341 376 (2) 0341305, ©.(3)D0241 306 (4) 0024 3»& |
P
w
(1) Nucleoside is formed fromNitrogen base + sugar ‘\\UO‘}O \ K)l'\fvy
}2’)’ Nucleoside is formed fromNitrogen base + sugar + phosphoric acié, M

(3) Nucleoside is formed ofily from Nitrogen base

151. Which ofthe following is true wathyregards to nucleosides

(4) Nucleosidé"is(:f(;ﬁmed from Nitrogen base + amino acid G\’J
SrgS B pae i Somodotdod 6K & 1Bod TIS* HBKE 28?
(1) LS oS0 + 55 60 0D SrgdRrpE DEyKso0d
(2) BES gE50-+ 58,8 + FIN0E o Hod Srgfarps Ddgdéoéooﬁ
(3, SE'=S F650 Hod SrEdh Srg8drps A yddos

NH) 325 $650 + 6B wize $00 SrEErPE Dyde0s

Rough Work
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152. 100 ml of KMnO, solution is exactly reduced by 100 ml of 0. SM oxalic acid under acidic
condition. The Molarity of KMnOy solution is

e5y dHgos® 100 ml 0.5M wxd§ wio, 100 ml KMnOy4 E5e07Q) Jrone Sodosdeao
FoboR$s. KMnO, (&S0 3rardd

/r( 0.1 M (2) 02M

(3) 0.05M _ (4) 0.5M

153. The -half life of a It order reaction is 1 min 40 seconds. Calculate itstate’'constant
o8 BES ESro¥ worg egraing 1 i 40 2ESen. TR o FUOER) 8§, 0F0d.

(1) 6.9x10-3min! Q/ 6.9 x 10-3 sl
(3) 6.9x%103s (4) 100s

154. Tubeless tyres are co-polymers of isoprene and

/(/I’( Neoprene (2) Silicons

* (3) Isobutylene (4) PAN
&g Bbww @S 0ok 3R E0g, RS wmoPorsned (co-polymers)
(1) ABr©S (2) 085w

(3) ovrw5i0S D i (4) PAN

155 Calculate the wave niimber of the highest energy transition in the Balmer series of Hydrogen
" atom [Ry =409678%nt ']

TERS 38830 wHb FSSD «f8 8 585885 6ok :oogus:‘éo 88 owod.
[Ryz= 109678 cm™']

, 27419.5 cm™! (2) 2741.95 com!
(3) 274.195 cm! (4) 274195.1 cm™
Rough Work
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156. Consider that the following reaction proceeds via a Carbocation intermediate to give the
product

% (808 S STHSLATS gy STPintor 20h ST JG)ER0E Frdotod,

Y 4

_

N\

Which of the following energy profiles best represents the overall reaction?

& (0B 8 Jgy DEeS” A& FY IGgH VBT BrRRed

2
M @, b4
RC RC 2
3) (4)
AG AG
RC RC 4
Rough Work
AM 2017 61-A @




A

157. Statement - 1 : Acetone -+ Carbon disulphide solution shows positive deviation from Raoult’s law

Statement - 2 : Acetone + Aniline solution shows positive deviation from Raoult’s law
),H/ ‘Both statement -1 and statement - 2 are correct

(2) Both statement -1 and statement - 2 are wrong

(3) Statement -1 is correct and statement - 2 1s wrong

(4) Statement -1 is wrong and statement - 2 is correct

gy 1 1 VG + 5G)0 BITYE (@S T QoKD S0 Ford 8, IToT )
B30 08

gy 2 1 V'S + VDS @SS TS oSN 00 SFEE TR D800
(1) argwg -1 Sodosn gy - 2Bodr HOND

(2) ogwg -1 $8050 Sgwg - 2Vodr &3

(3) orgwg -1 9838 52 gy - 2 Sy

(4)- Fgpg -1 83y 5°Q agpg - 2 $OI8

158. The reactivity order of below compoundé with KI in acetone is:

Kl/acetone &° §ob d3ndToSogio o

O
Cl
: Cl

CH3—(|H—CH3 .. CH,0CH,CI

1)

(i) (i) (iii) (iv)
) ik > iv>ii > 2) ii>iii>iv>i
(3 iv>ii>iii > Y v i > i >

Rough Work
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(A)

m the below strategy. Identify the structure of

159. Artificial sweetening agent is prepared fro
final product

& 80b Jrgiro Sood BY@ 55 56ES0 Sc5rEBt. Body &Ko GE), ATYET )

KoBowsod
CHy
SOZCI
1. NI~I3
—_———> P
2. K;'\/‘InO4
(O]
‘. a'\

(1) (2)
| | RNZ
Fesy Q | -
/@’( ] NH , (4) )
//5 \< p= . : //s\\ NH
0 0 0 0

160. An isotonic solution will produce an osmotic pressure of 10.00 atm measured against pure
water at 37 °C. How many grams of NaCl must be dissolved in one litre of water to produce

an isotoni¢’solution
37 °C Sy 98O o8 $SSTHT0E (@Sesn 10.00 atm EorHRC ©ETR
@ 9B @00, SHBTHFE TH00 ELTIE IQ) rsoe NaCl & a8 968

S ——
e ol sl

} Q&5 oA T O
> A1) 1146¢ | (2) 0.196 ¢ (3) 9.0l1¢g (4) 1.,0g
§ Rough Work
\
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64
65

66

67

68
69

70
71
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76
77
78
79
80
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Set C

Set B

Set A

Q.No

10
11
12
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145

146
147
148
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150
151
152
153

154
155

156
157
158
159

160

SetD |Q.No

1,4

Set C
1,4

Set B

1,4

Set A

1,4

Q.No

81

82

83

84
85

86

87
88
89

90
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92

93

94
95
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97
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103

104
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108
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112
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115
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117
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119
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Note: 'D' indicates mark is awarded
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